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Reading Future  

Create 1 Final (Unit 9-16) 
 

▪ Answer the questions. 

 

1. What is the best word for the blank? 

Researchers ____________ information 

to learn about something or find a 

solution. 

a. gathering  b. gather 

c. gathered  d. gathers 

 

2. Which word does NOT correctly 

match with its meaning? 

a. century: a period of 100 years 

b. hardly: almost never 

c. tiny: very small 

d. fix: to break 

 

3. Which pair does NOT have the same 

relation as the sample? 

<Sample: big : huge> 

a. bitter : sweet 

b. regular : special 

c. outcome : result 

d. half : whole 

 

 

 

 

 

 

4. Which pair does NOT have the same 

relation as the sample? 

<Sample: fast : slow> 

a. hardly : always  

b. giant : large 

c. maximum : most 

d. technique : skill 

 

5. Which word has the closest meaning 

to the underlined word? 

My aunt likes to look at old family 

photos because she wants to hold on to 

all the good memories. 

a. lose   b. sell 

c. keep   d. let go 

 

6. Choose the option that best fits the 

blanks. 

 Some people cannot use soap when 

they wash their face. This is because 

their skin is (A)______________ to 

strong (B)______________. 

       (A)       (B) 

a. equal  stages 

b. sensitive  chemicals 

c. tiny   whistles 

d. basic  units 
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7. What is the correct word for the 

blank? 

The ______________ of winning a big 

lottery is quite low. 

a. possibility  b. education 

c. population  d. contrast 

 

8. What is the passage mainly about? 

Male birds have very colorful feathers. 

Colorful feathers make them attractive 

to female birds. Female birds usually do 

not have bright feathers. This is because 

they want to be able to hide and take 

care of their chicks.  

a. The colors of bird feathers are 

attractive. 

b. The female bird’s feathers are 

colorful. 

c. Male birds need to take care of 

female birds. 

d. Male and female birds have different 

colors. 

 

9. What is NOT true about the passage? 

Robert Wadlow was the tallest man in 

world. He was 8.11 feet (2.7 meters) 

tall. He needed a lot of energy because 

he was so tall. He had to eat three times 

the amount of food other people ate. 

However, he suffered from many health 

problems, especially in his legs. 

a. Wadlow ate more food than other 

people. 

b. Wadlow was a very tall man.  

c. Wadlow had problems with his arms. 

d. Wadlow needed lots of energy. 

 

10. What is “this company” in the 

passage? 

Facebook is a free service to use, but it 

is a very big and successful company. 

How does this business make so much 

money? Facebook collects data from all 

its users. They use the data to target 

advertising. Advertising is a very big 

business. 

a. advertising 

b. Facebook 

c. company 

d. data 

 

11. Choose the correct forms. 

When an organ does not work well 

because of a disease, doctors may 

decide to change it with a healthy 

organ.  After receiving the new organ, it 

takes time to (A) (recover / recovering). 

The doctors must watch to see if your 

body (B) (accepts / accepting).  

          (A)      (B) 

a. recover  accepts 

b. recover  accepting 

c. recovering  accepts 

d. recovering  accepting 

 

12. Choose which is NOT correct. 

The (A) average (B) height between men 

and women are different. Men are 

about five inches (C) upper than 

women. How tall you grow (D) typically 

depends on your environment. 

a. (A)   b. (B)  

c. (C)   d. (D) 
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13. What is most appropriate for the 

blank? 

Making some changes in your lifestyle 

can help you live longer. Studies show 

that people who do not have strong 

friendships are more likely to suffer 

from heart disease. This means that it is 

important to __________________. 

a. be healthy 

b. quit smoking 

c. have friends 

d. live longer 

 

14. Read the passage and complete the 

Wrap Up chart. 

The left lung and right lung are not the 

same. The left lung is made of two parts. 

In contrast, the right lung is divided into 

three parts. The right lung is shorter and 

wider, while the left lung is smaller.  

 

Left lung Right lung 

 

 

 

has three parts 

smaller  

 

 

 

 

 

 

 

 

 

 

 

15. Read the passage and complete the 

cause and effect chart. 

Many people think chocolate is not 

good for you because it has high fat and 

lots of sugar. However, research shows 

that chocolate can be good for health. 

Chocolate is made from cacao, which 

has many benefits. Eating cacao can 

make you feel happy. 

 

Cause  Effect 

 

 

People think chocolate is 

unhealthy. 

Eat cacao  

 

 


